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Exam 3 
 
Capital Budgeting 
 
Evaluation techniques: 
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 Traditional payback—unadjusted cash flows are used 
 Discounted payback—discounted cash flows, or present values, are used 
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Cash Flow Estimation 

Net cash flow = Net income + Depreciation = Return on capital + Return of capital 
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Cost of Capital 
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IRR = internal rate of return 
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Proportion After-tax Proportion Cost of Proportion
WACC = of  x cost of  + of preferred  x preferred  + of common  x
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WACC Total dollar amount of lower cost of capital of a given type = 

Break Point Proportion of this type of capital in the capital structure
 

 

Planning and Control 
 
 
 
 

Operating Breakeven Analysis 
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(Q ×P) - (Q × V) S - VC Gross profit =  =  = DOL (Q × P) - (Q × V) - F S - VC - F EBIT
 

 
Financial Breakeven Analysis 
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(EBIT-I)(1-T)-DEarnings available to common stockholdersEPS= = =0
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Degree of Percent change in EPS = DFL =  = 
financial leverage Percent change in EBIT

 

 
EBIT EBITDFL =  = 

EBIT - I EBIT - [Financial BEP]
  Dps= I + Financial BEP

(1 - T)
 

 

Sales levelFull capacity sales = 
Percent of capacity used
to generate sales level
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Gross Profit EBIT Gross ProfitDTL =  x  = 

EBIT EBIT - [Financial BEP] EBIT - [Financial BEP]

S - VC Q(P - V)        =  = 
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When there is no preferred stock. 

When there is no preferred stock. 


